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QUESTION 1

How can you improve processing performance in HIVE?
A. Partition tables

B. Run the SET hive.exec.parallel = false command

C. Ensure highly normalized tables and use joins

D. Minimize bucketing

Correct Answer: A

QUESTION 2

You develop a Python script "logisticpy" to evaluate the logistic function denoted as f(y) for a given value y that includes
the following Pig code:

Register \V'logistic.py\\' using jython as udf;

z = FOREACH y GENERATE $0, udf.logistic ($0);

DUMP z;

What is the expected output when the Pig code is executed?
A.0

B. Jython is not a supported language

C. Value of f(y) for ally

D. Tuples (y, f(y))

Correct Answer: D

QUESTION 3

In a connected, undirected graph of 5 nodes with 10 edges, how many more edges need to be added to make the
clustering coefficient of every node equal 1 ?

A.0
B.5
C.10
D. 15

Correct Answer: A
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QUESTION 4
What is a characteristic of stop words?
A. Used in term frequency analysis

B. Include words such as "a", "an", and "the"
C. Meaningful words requiring a parser to stop and examine them
D. Don\\'t occur often in text

Correct Answer: B

QUESTION 5

Which metric would be most helpful in identifying a node that may cause network disruption if the node were removed?
A. Degree

B. Closeness

C. Betweenness

D. PageRank

Correct Answer: A
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